Unit 6 Probability Study guide

Notation:
Or=P(AU B) And =P(A N B) Givén=P(A|B)
Formulas
P(AAUB) = P(A)BJ)r P(B) — P(A and P(A N B) =P(A) - P(B) P(A[B) = %t_ﬂ_)
p(Bla) = LAGndE)
P(A)

1. Below are the counts (in thousands) of earned degrees in the United States in a recent year, classified by level
and by the sex of the degree recipient. One person is selected at random, find the following probabilities.

Bachelor’s | Master’s | Professional | Doctorate Total
(B) (MA) ® D)
Female (F) 616 194 30 16 856
Male (M) 529 171 44 26 770
Total 1145 365 74 42 1626
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2. Of 500 athletes surveyed, 300 were male and 20 were left-handed. Only 8 of the left-handed athletes were
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9. A six-sided cube is rolled twice. What is probability that you will roll a B2 T3 ]a s "_—]
sum greater than 97 P23 45 67
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10. Determine if Independent or Dependent.

Independent: P(A N B) = P(A) - P(B) Dependent: P(A N B) # P(A) - P(B)

a) P(ANB) =0.75, P(A) =0.45, P(B) =0.30 D) P(A NB) =0.0672, P(A) = 0. 12 P(B) = 0.56
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11. Given the frequency table below, determine the following,.

Male Female Total
Born in GA 7 5 -
Not Born in GA 16 i ”
Total 23 g -
a) P(Female) = _IT; Uy
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f) Are the events Female and Born in GA independent? Explain. ! et '
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12. One card is selected at random from the following set of 6 cards, each of which has a number and a black or
white symbol. Let W be the event that the selected card has a white symbol and F be the event that the selected

card has a 5. 2A, 40, S|, 5¢.50,5m }

Determine if the events W and F are independent or dependent. Justify your answer.
P(Whl’te n 5) P(W) P(F) .'
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